

## Department of Public Works, Highway & Transportation 1919 Alliant Energy Center Way Madison, WI 53713 \* 608/266-4018

PUBLIC WORKS PROJECT BID SUMMARY

The firms listed below submitted a bid for the County's consideration. All bids are subject to review by the respective County officials. A bid summary will be posted on "www.countyofdane.com/pwbids" after this review is done. This bid summary may be updated after a contract has been awarded.

Bid No.:	id No.: 315034		Awarded to:		
Due Date:	<b>Pue Date:</b> 7/7/2015		Contract No:		
Name of Project:	ame of Project: Phase 10-Cell 1 Liner Construction		Comments:		
Project Manager:	Manager: John Welch		Date of Award:	DATE	
	VENDOR NAME		R.G. Huston	Iverson	Buteyn-Peterson
		New Berlin, WI	Cottage Grove, WI	Cottage Grove, WI	Sheboygan, WI
Vendo	or Registered (Yes / No)				
	Base Bid:	\$1,610,575.00	\$1,558,241.00	Incomplete Bid	\$1,633,646.90
	Alternate Bid 1:	\$10.25yd <sup>3</sup>	\$5.50yd <sup>3</sup>		\$4.11yd <sup>3</sup>
	Alternate Bid 2:				
	Informational Price 1:				
	Other:				
	Total:	\$1,610,575.00	\$1,558,241.00		\$1,633,646.90
	Unit Price 1:				
	Unit Price 2:				
Acknowledge A	addendum(s) (Yes / No)	Yes	Yes		Yes
Da	ites in Range (Yes / No)				
Bid	Form Signed (Yes / No)	Yes	Yes		Yes
	Bid Bond (Yes / No)	Yes	Yes		Yes
	FLPC (Yes / No)	Yes	Yes		Yes
Experience Sum	nmary (Yes / No / N.A.)				

## **Department of Public Works, Highway & Transportation**

## **BID SUMMARY PAGE 2**

The firms listed below submitted a bid for the County's consideration. All bids are subject to review by the respective County officials. A bid summary will be posted on "www.countyofdane.com/pwbids" after this review is done. This bid summary may be updated after a contract has been awarded.

Bid No.: 315034		Awarded to:					
Due Date:	<b>Due Date:</b> 7/7/2015		Contract No:				
Name of Project:	Name of Project: Phase 10-Cell 1 Liner Construction		Comments:				
Project Manager:	ject Manager: John Welch		Date of Award:	DATE			
	VENDOR NAME	Integrity Schofield, WI					
Vendo	or Registered (Yes / No)	Schoneid, Wi					
Venue	Base Bid:	\$1,599,776.18					
	Alternate Bid 1:	\$6.00yd <sup>3</sup>					
	Alternate Bid 2:	70.007					
	Informational Price 1:						
Other:							
	Total:	\$1,599,776.18	\$0.00	\$0.00	\$0.00		
	Unit Price 1:						
	Unit Price 2:						
Acknowledge A	Addendum(s) (Yes / No)	Yes					
Dates in Range (Yes / No)							
Bid Form Signed (Yes / No)		Yes					
		Yes					
	FLPC (Yes / No) Yes						
Experience Sun	nmary (Yes / No / N.A.)						

ITEM	SCHEDULE OF VALUE DESCRIPTION	UNITS	ESTIMATED QUANTITY	UNIT PRICE	SCHEDULE OF VALUE PRICE
1	Mobilization	LS	1	\$140,000.00	\$140,000.00
2	Surveying	LS	1	\$25,000.00	\$25,000.00
3	Sediment Control Fence and Logs	LS	1	\$10,000.00	\$10,000.00
4	Clear and Grub	LS	1	\$3,000.00	\$3,000.00
5	Tie-in Berm and Toe Drain Pipe	LS	1	\$40,000.00	\$40,000.00
	Geomembrane Boots Around Two Existing			, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	,
6	Gas Wells	LS	1	\$1,350.00	\$1,350.00
	Subbase Grade Construction- Horizontle				
	Expansion Area (Area "C" on Drawings 4				
	and 5)				
	<ul> <li>Estimated Cut Volume (1)(2)</li> </ul>	CY	40,300		
7	■ Estimated Fill Volume (1)(2)	CY	5,500	\$3.50	\$141,050.00
,	Subbase Grade Construction- Vertical	<u> </u>	3,300	ψ3.30	ψ1 (1)030.00
	Expansion Area with no Existing				
	Geomembrane Layer (Area "B" on Drawings				
	4 and 5)				
8	■ Estimated Cut Volume (1)(2)(3)	CY	9,000	\$3.50	\$31,500.00
-	Grading for Vertical Expansion Area with an	Ci	9,000	٥٠.٥٠	431,300.00
	Existing Geomembrane Layer (Area "A" on				
	Drawings 4 and 5)				
9	Estimated Cut Volume (1)(2)	CY	800	\$3.50	\$2,800.00
10		LS	1	\$35,000.00	\$35,000.00
	Groundwater Gradient Control System		_		. ,
11	Select Clay Fill (1)	CY	30,600	\$5.25	\$160,650.00
12	Geomembrane Surface Preparatoin	LS	1	\$50,000.00	\$50,000.00
	Geomembrane	CV	24 500		
13	<ul><li>60 mil geomembrane</li><li>40 mil geomembrane</li></ul>	SY SY	24,500 10,300	\$8.75	#VALUE!
14	Geotextile Cushion	SY	36,000	\$2.35	\$84,600.00
15	Leachate Head Well	LS	36,000	\$2,33	\$29,275.00
	Select Aggregate Fill Drainage Layer (1)				
16 17	Delineation Berms	CY LF	1	\$378,000.00	\$378,000.00
1/	Perforated and Non-perforated HDPE	LF	505	\$110.00	\$55,550.00
18	Leachate Pipe	LF	1,150	\$27.50	\$31,625.00
10	Leachate Collection Sump and Inclined Riser	LF	1,130	\$27.50	331,023.00
19	Piping	LS	1	\$27,900.00	\$27,900.00
15	i ibilig	LJ	1	\$27,900.00	\$27,900.00
	Perimeter Access Vault and Connection to				
20	Existing Forcemain Pipe	LS	1	\$23,275.00	\$23,275.00
20	Existing Forcemum Fipe		1	723,273.00	<i>\$23,273.00</i>
21	Electrical Resistivity Testing Assisatance	LS	1	\$19,700.00	\$19,700.00
22	Strip and Stockpile Topsoil	Acre	5	\$975.00	\$4,875.00
23	Topsoil Placement	Acre	7	\$3,500.00	\$24,500.00
24	Seed, Fertilize, and Mulch	Acre	7	\$2,675.00	\$18,725.00
25	Erosion Control and Revegetation Mat	LS	1	\$18,500.00	\$18,500.00
26	Access Roads	LS	1	\$12,000.00	\$12,000.00
27	Install Subersible Pump and Transducer	LS	1	\$940.00	\$940.00
	Temporary Surface Water Diversion Berm				
28	on Final Cover	LF	450	\$11.50	\$5,175.00
29	Flat Bottom and V-notch Ditches	LS	1	\$7,165.00	\$7,165.00
30	Culverts	LS	1	\$3,000.00	\$3,000.00
	Temporary Diversion Berm West Side of				
31	Phase 10	LF	310	\$24.50	\$7,595.00
32	Removal of Existing Asphault Haul Road	SY	3,450	\$1.00	\$3,450.00
			TOTAL:		\$1,610,575.00

ITEM	SCHEDULE OF VALUE DESCRIPTION	UNITS	ESTIMATED QUANTITY	UNIT PRICE	SCHEDULE OF VALUE PRICE
1	Mobilization	LS	1	\$37,800.00	\$37,800.00
2	Surveying	LS	1	\$17,000.00	\$17,000.00
3	Sediment Control Fence and Logs	LS	1	\$1,125.00	\$1,125.00
4	Clear and Grub	LS	1	\$315.00	\$315.00
5	Tie-in Berm and Toe Drain Pipe	LS	1	\$35,500.00	\$35,500.00
	Geomembrane Boots Around Two Existing				
6	Gas Wells	LS	1	\$1,300.00	\$1,300.00
	Subbase Grade Construction- Horizontle				
	Expansion Area (Area "C" on Drawings 4				
	and 5)				
	<ul> <li>Estimated Cut Volume (1)(2)</li> </ul>	CY	40,300	\$2.60	\$104,780.00
7	<ul> <li>Estimated Fill Volume (1)(2)</li> </ul>	CY	5,500	0	0
	Subbase Grade Construction- Vertical				
	Expansion Area with no Existing				
	Geomembrane Layer (Area "B" on				
	Drawings 4 and 5)				
8	<ul> <li>Estimated Cut Volume (1)(2)(3)</li> </ul>	CY	9,000	\$4.60	\$41,400.00
					•
	Grading for Vertical Expansion Area with				
	an Existing Geomembrane Layer (Area "A"				
	on Drawings 4 and 5)				
9	<ul> <li>Estimated Cut Volume (1)(2)</li> </ul>	CY	800	\$6.05	\$4,840.00
10	Groundwater Gradient Control System	LS	1	\$55,700.00	\$55,700.00
11	Select Clay Fill (1)	CY	30,600	\$7.25	\$221,850.00
12	Geomembrane Surface Preparatoin	LS	1	\$19,100.00	\$19,100.00
	Geomembrane				·
	<ul> <li>60 mil geomembrane</li> </ul>	SY	24,500	\$6.53	\$159,985.00
13	<ul> <li>40 mil geomembrane</li> </ul>	SY	10,300	\$5.84	\$60,152.00
14	Geotextile Cushion	SY	36,000	\$2.07	\$74,520.00
15	Leachate Head Well	LS	1	\$19,300.00	\$19,300.00
16	Select Aggregate Fill Drainage Layer (1)	CY	1	\$399,000.00	\$399,000.00
17	Delineation Berms	LF	505	\$147.50	\$74,487.50
	Perforated and Non-perforated HDPE				
18	Leachate Pipe	LF	1,150	\$25.60	\$29,440.00
	Leachate Collection Sump and Inclined				
19	Riser Piping	LS	1	\$23,070.00	\$23,070.00
	Perimeter Access Vault and Connection to				
20	Existing Forcemain Pipe	LS	1	\$19,745.00	\$19,745.00
21	Electrical Resistivity Testing Assisatance	LS	1	\$10,170.00	\$10,170.00
22	Strip and Stockpile Topsoil	Acre	5	\$4,500.00	\$22,500.00
23	Topsoil Placement	Acre	7	\$4,200.00	\$29,400.00
24	Seed, Fertilize, and Mulch	Acre	7	\$2,378.00	\$16,646.00
25	Erosion Control and Revegetation Mat	LS	1	\$16,224.00	\$16,224.00
26	Access Roads	LS	1	\$12,580.00	\$12,580.00
				440.00	640.500
27	Install Subersible Pump and Transducer	LS	1	\$404.00	\$404.00
20	Temporary Surface Water Diversion Berm		450	622.62	644 400 00
28	on Final Cover	LF	450	\$32.00	\$14,400.00
29	Flat Bottom and V-notch Ditches	LS	1	\$4,615.00	\$4,615.00
30	Culverts Tomporary Diversion Borm West Side of	LS	1	\$13,900.00	\$13,900.00
21	Temporary Diversion Berm West Side of Phase 10	15	210	\$22.00	¢0.020.00
31	Filase 10	LF	310	\$32.00	\$9,920.00
32	Removal of Existing Asphault Haul Road	SY	3,450	\$2.05	\$7,072.50
32		J1	TOTAL:	γ <b>∠.</b> υ3	\$1,558,241.00
			IOIAL	I	71,330,241.00

## **BUTEYN-PETERSON**

ITEM	SCHEDULE OF VALUE DESCRIPTION	UNITS	ESTIMATED QUANTITY	UNIT PRICE	SCHEDULE OF VALUE PRICE
1	Mobilization	LS	1	\$113,714.00	\$113,714.00
2	Surveying	LS	1	\$8,210.00	\$8,210.00
3	Sediment Control Fence and Logs	LS	1	\$1.00	\$1.00
4	Clear and Grub		1	\$1.00	\$1.00
5	Tie-in Berm and Toe Drain Pipe		1	\$31,201.00	\$31,201.00
	Geomembrane Boots Around Two Existing				
6	Gas Wells	LS	1	\$1,200.00	\$1,200.00
	Subbase Grade Construction- Horizontle				
	Expansion Area (Area "C" on Drawings 4				
	and 5)				
	<ul> <li>Estimated Cut Volume (1)(2)</li> </ul>	CY	40,300	\$3.89	\$156,767.00
7	<ul> <li>Estimated Fill Volume (1)(2)</li> </ul>	CY	5,500	\$3.89	\$21,395.00
	Subbase Grade Construction- Vertical				
	Expansion Area with no Existing				
	Geomembrane Layer (Area "B" on				
	Drawings 4 and 5)				
8	<ul> <li>Estimated Cut Volume (1)(2)(3)</li> </ul>	CY	9,000	\$5.00	\$45,000.00
			·		
	Grading for Vertical Expansion Area with				
	an Existing Geomembrane Layer (Area "A"				
	on Drawings 4 and 5)				
9	<ul> <li>Estimated Cut Volume (1)(2)</li> </ul>	CY	800	\$10.00	\$8,000.00
10	Groundwater Gradient Control System	LS	1	\$84,176.00	\$84,176.00
11	Select Clay Fill (1)	CY	30,600	\$4.47	\$136,782.00
12	Geomembrane Surface Preparatoin	LS	1	\$12,645.00	\$12,645.00
	Geomembrane				
	<ul> <li>60 mil geomembrane</li> </ul>	SY	24,500	\$5.35	\$131,075.00
13	<ul> <li>40 mil geomembrane</li> </ul>	SY	10,300	\$5.35	\$55,105.00
14	Geotextile Cushion	SY	36,000	\$2.05	\$73,800.00
15	Leachate Head Well	LS	1	\$6,000.00	\$6,000.00
16	Select Aggregate Fill Drainage Layer <sup>(1)</sup>	CY	1	\$448,686.00	\$448,686.00
17	Delineation Berms	LF	505	\$135.48	\$68,417.40
	Perforated and Non-perforated HDPE				
18	Leachate Pipe	LF	1,150	\$14.83	\$17,054.50
	Leachate Collection Sump and Inclined				
19	Riser Piping	LS	1	\$20,450.00	\$20,450.00
	Perimeter Access Vault and Connection to				_
20	Existing Forcemain Pipe	LS	1	\$19,521.00	\$19,521.00
			_	40	A
21	Electrical Resistivity Testing Assisatance	LS	1	\$8,160.00	\$8,160.00
22	Strip and Stockpile Topsoil	Acre	5	\$8,745.00	\$43,725.00
23	Topsoil Placement	Acre	7	\$4,373.00	\$30,611.00
24	Seed, Fertilize, and Mulch	Acre	7	\$2,378.00	\$16,646.00
25	Erosion Control and Revegetation Mat	LS LS	1 1	\$16,224.00	\$16,224.00
26	Access Roads	LS	1	\$11,200.00	\$11,200.00
27	Install Subersible Pump and Transducer	LS	1	\$2,500.00	\$2,500.00
	Temporary Surface Water Diversion Berm	LJ	1	72,300.00	۶۲,JUU.UU
28	on Final Cover	LF	450	\$15.00	\$6,750.00
29	Flat Bottom and V-notch Ditches	LS	1	\$13,480.00	\$13,480.00
30	Culverts	LS	1	\$15,945.00	\$15,945.00
- 30	Temporary Diversion Berm West Side of		-	713,343.00	Y±3,373.00
31	Phase 10	LF	310	\$13.00	\$4,030.00
				+-3.00	+ -,230.00
32	Removal of Existing Asphault Haul Road	SY	3,450	\$1.50	\$5,175.00
			TOTAL:		\$1,633,646.90
				I	. , ,

ITEM	SCHEDULE OF VALUE DESCRIPTION	UNITS	ESTIMATED QUANTITY	UNIT PRICE	SCHEDULE OF VALUE PRICE
1	Mobilization	LS	1	\$103,140.34	\$103,140.34
2	Surveying	LS	1	\$3,000.00	\$3,000.00
3	Sediment Control Fence and Logs		1	\$3,500.00	\$3,500.00
4	Clear and Grub		1	\$1,500.00	\$1,500.00
5	Tie-in Berm and Toe Drain Pipe	LS	1	\$32,337.79	\$32,337.79
	Geomembrane Boots Around Two Existing				
6	Gas Wells	LS	1	\$830.00	\$830.00
	Subbase Grade Construction- Horizontle				
	Expansion Area (Area "C" on Drawings 4				
	and 5)	LS	1	\$173,874.10	\$173,847.10
	Estimated Cut Volume (1)(2)	CY	40,300	\$173,874.10	\$173,647.10
7	• Estimated Fill Volume (1)(2)	CY	5,500		
,	Subbase Grade Construction- Vertical	CI	3,300		
	Expansion Area with no Existing				
	Geomembrane Layer (Area "B" on				
	Drawings 4 and 5)	1.0		655 024 44	ĆEE 024 44
		LS	1	\$55,034.41	\$55,034.41
8	Estimated Cut Volume (1)(2)(3)	CY	9000		
	Creding for Ventical Forester Asset 11				
	Grading for Vertical Expansion Area with				
	an Existing Geomembrane Layer (Area "A"				_
	on Drawings 4 and 5)	LS	1	\$11,257.30	\$11,257.30
9	Estimated Cut Volume (1)(2)	CY	800		
10	Groundwater Gradient Control System	LS	1	\$76,129.94	\$76,129.94
11	Select Clay Fill <sup>(1)</sup>	CY	30,600	\$6.86	\$209,916.00
12	Geomembrane Surface Preparatoin	LS	1	\$14,793.71	\$14,793.71
	Geomembrane	LS	1	\$218,760.00	\$218,760.00
	<ul> <li>60 mil geomembrane</li> </ul>	SY	24,500		
13	<ul> <li>40 mil geomembrane</li> </ul>	SY	10,300		
14	Geotextile Cushion	SY	36,000	\$2.40	\$86,400.00
15	Leachate Head Well	LS	1	\$20,000.00	\$20,000.00
16	Select Aggregate Fill Drainage Layer <sup>(1)</sup>	LS	1	\$320,926.81	\$320,926.81
17	Delineation Berms	LF	505	\$38.42	\$19,402.10
	Perforated and Non-perforated HDPE				
18	Leachate Pipe	LF	1,150	\$57.30	\$65,895.00
	Leachate Collection Sump and Inclined				
19	Riser Piping	LS	1	\$30,238.78	\$30,238.78
	Perimeter Access Vault and Connection to				
20	Existing Forcemain Pipe	LS	1	\$23,944.51	\$23,944.51
				4	4.2
21	Electrical Resistivity Testing Assisatance	LS	1	\$10,563.26	\$10,563.26
22	Strip and Stockpile Topsoil	Acre	5	\$2,008.79	\$10,043.95
23	Topsoil Placement	Acre	7	\$4,453.64	\$31,175.48
24	Seed, Fertilize, and Mulch	Acre	7	\$2,378.00	\$16,646.00
25	Erosion Control and Revegetation Mat	LS	1	\$16,224.00	\$16,224.00
26	Access Roads	LS	1	\$15,473.28	\$15,473.28
27	Install Culturally Du	1.0	_	64 220 02	ć4 220 02
27	Install Subersible Pump and Transducer	LS	1	\$1,328.82	\$1,328.82
20	Temporary Surface Water Diversion Berm	1.5	450	¢11 27	¢E 116 E0
28 29	on Final Cover Flat Bottom and V-notch Ditches	LF LS	450	\$11.37 \$9,500.00	\$5,116.50 \$9,500.00
30	Culverts	LS	1	\$806.00	\$9,500.00
30	Temporary Diversion Berm West Side of	L3	1	00.000	ουυ.υυ
31	Phase 10	LF	310	\$16.51	\$5,118.10
J1	THUSC IO	LI	310	710.31	75,110.10
32	Removal of Existing Asphault Haul Road	SY	3,450	\$2.00	\$6,900.00
	3 1 <sub>p</sub> 11 11 11000		TOTAL:		\$1,599,776.18
			TOTAL	i	71,333,770.10